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PUZZLES usmg numbers have become more and more papular over -
the years. Some of the puzzles are purely mathematical and involve
the use of simple processes. There are others, however, which,
although appearing to use one branch of mathematics, can be
solved more easily and quickly by using a little logical thought
Before attempting a puzzle it should be considered very carefully
and quite often the solution stands out clearly. ‘

One main aid in the production of number puzzles is the compu_ter; .
Once a programme has been written puzzles can be generated ata
very fast rate. However this does not - dispense with the need for
other human assistance

Fortunately I have an extremely able helper in Carolyn Skitt. She
checks, criticizes and improves on many of the puzzles produced.
Without Carolyn this book would still be in the making. Help has
also come from other quarters. Joanne Harris spent a great deal of
time perfecting the tinted puzzles, Bobby Raikhy worked on the
many diagrammatic styles, and Dav1d Ballheimer checked the
proofs. But what of Mensa?

If you can solve the puzzles can you join the organization? You
should have no problem. These are fun puzzles but they are by no
means easy. If you can work these out the Mensa test should prove * |
to be no hurdle and you should easily qualify. Once you have joined
you will find a feeling of self-satisfaction that very few experience in
a life-time. You will meet people of different walks of life but of
similar brain power. A scientist can meet a poet, a composer, oran
architect. The broadening of the intellectual vision is amazing. ‘The
new horizon is formidable, but challenging. Iinvite you to join this
ever-expandmg group of people, where race, rehglon or political -
persuasion are not blocks but keys: keys to opening new doors of
understanding, friendship and considered discussion. ,

There are 40,000 Mensa members in the British Isles alone There are
over 50,000 in the USA. There are 120,000 throughout the world. ,
Write to: Mensa (MWP), Mensa House, St John’s Square, ‘ :
Wolverhampton WV2 1AH. We will send you detalls anda home—
screening IQ test. - o

HAROLD GALE : -
Executive Director of Bntlsh Mensa
March 1993. i :




Take 10 minutes only to
complete the test.

1 Ifacircle is one how many is
an octagon?

2 There are 1,200 elephants in a
herd. Some have pink and blue
stripes, some are all pink and
some are all blue. Of these one
third are pure pink. Is it true that
400 elephants are definitely
blue?

3 Which vowel comes midway
between Jand T?

4 Which number comes next in
this series of numbers?

123571137

5 Which letter comes next in this
series of letters?

BACBDCEDEF?

Score
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Now try this one:

Your watch was correct at midnight but then
began to gain two and a half minutes every hour.
It stopped two hours ago showing quarter past
six in the morning. What should the watch

be showing?

MENSA MINI 1Q TEST

6 Which of these is the odd
one out?

CAT DOG HAMSTER
RABBIT ELK

7 Which word can be added to
the end of GRASS and the begin-
ning of SCAPE to form two
other English words?

8 The zoo has two lions. A lion
eats three pounds of meat each
day. A lioness eats two pounds
of meat each day and a lion cub
eats one pound of meat. The
delivery for today is two pounds
of meat and that is all the meat
available for the zoo. Must any
or both of the lions go hungry?

9 Ifsix minus one is worth nine
and seven minus five is worth
one. How much is six plus

ten worth?

Comment
Excellent

Very Good Indeed
Mensa Level
Good

Above Average
Average

Below Average
Well Below Average
Poor

Very Poor Indeed

10 Which word of four letters
can be added to the front of the
following words to create other
English words?

CARD BOX CODE BAG
HASTE

Answers

8

No.

O.

17. (They are all prime
numbers.)

E

Elk.

Land.

No, they could be lion
cubs.

9 9. Value of Roman
numerals in words, if
any, either subtracted
or added.

Post.

A W N

0 N O O

10

PossibleIQ 1
160 |
155
148
130
115
100
90

80

65

S0

=

R

N T

If you think you have the correct answer send it

to Mensa on a postcard or the back of an envelope
and you will receive a certificate of merit, along
with Mensa details. The address to reply to is:
Mensa House, St John's Square,

Wolverhampton WV2 IAH.



NUMBER PUZZLE 1

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth minus 23,
how many different routes are there to score 188?

ANSWER 62

3 2 8

NUMBER PUZZLE 2

Place the tiles in a square to give some five-figure numbers.
When this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 10



NUMBER PUZZLE 3

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 70. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes.

How many different ways are there?

ANSWER 103

- NUMBER PUZZLE 4
Which number should replace the question mark in the diagram?
ANSWER 51



NUMBER PUZZLE 5
You have four shots with each go
to score 75. Aim at this target and
work out how many different

ways there are to make the score.

Assume each shot scores and once
four numbers have been used the
same four cannot be used again in
another order. :
How many are there?
ANSWER 92

D EIRAR4 45
RADK]A] 40
R4 RALIXIR 4 70
okl Okl iR 54

54 ? 54 43

NUMBER PUZZLE 6

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question mark?

"~ ANSWER 40




NUMBER PUZZLE 7

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
What is the highest total which can be attained?

ANSWER 82

61318
612
3 6 513

315

NUMBER PUZZLE 8

Move from square to adjacent square either vertically or horizon-
tally. Begin at the bottom left-hand square and end at the top right-
hand square. Collect nine numbers and total them. How many
different ways are there to total 38?

ANSWER 30
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NUMBER PUZZLE 9

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 72

NUMBER PUZZLE 10

Place six three digit numbers of
100 plus at the end of 432 so that
six numbers of six digits are
produced. When each number is
divided by 151 six whole
numbers can be found.
Which numbers should be placed
in the grid?

ANSWER 20



12 22 24 4
24 .0 17 14

13 12 39

NUMBER PUZZLE 11

Each row, column and five-figure diagonal line
in this diagram must total 85. Four different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 61

OO

270 90

NUMBER PUZZLE 12

Two planets are in line with each other and the sun.

The outer planet will orbit the sun every twelve years. The inner
planet takes three years. Both move in a clockwise direction.
When will they next form a straight line with each other and the
sun? The diagram should help you.

ANSWER 9



NUMBER PUZZLE 13

The top two scales are in perfect balance.
How many clubs will be needed to balance the bottom set?

ANSWER 102

N N\

16 11 4 1

NUMBER PUZZLE 14
Which figure should be placed in the empty triangle?
ANSWER 50



AR|4R|2D|IDI6DIID
1R|5D ID

IlUID IILI2 R IID IIL
3UJ3U|3U]JILJIRIZL
idI12r12d131 |ir |31
Suliulir Jid |21 4L
3ulil I5u |2r J2u |i U

NUMBER PUZZLE 15

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

Which button is the first you must press.

ANSWER 91

NUMBER PUZZLE 16

Complete the grid in such a way
that each segment of three numbers
totals the same.

When this has been done correctly
each of the three concentric circles of
eight numbers will produce three
identical totals.

Now complete the diagram.

ANSWER 39



NUMBER PUZZLE 17

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth minus 8,
how many different routes are there to score 155?

ANSWER 81

NUMBER PUZZLE 18

Place the tiles in a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 29



NUMBER PUZZLE 19

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 86. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anti-clockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 71

NUMBER PUZZLE 20
Which number should replace the question marks in the diagram?
ANSWER 19



NUMBER PUZZLE 21

You have four shots with each go
to score 51. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
four numbers have been used the
same four cannot be used again in
another order.

How many are there?

ANSWER 8

177
. 206
191
192

O

191 178 ? 193

NUMBER PUZZLE 22

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question mark?

ANSWER 60



NUMBER PUZZLE 23

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score 27?

ANSWER 101

91816 6 6
81915
616191815
8 19 8
518151516

NUMBER PUZZLE 24

Move from square to adjacent square either vertically or horizon-
tally. Begin at the bottom left-hand square and end at the top right-
hand square. Collect nine numbers and total them. How many
different ways are there to total 66?

ANSWER 49
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NUMBEE PUZZLE 25

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 90

NUMBER PUZZLE 26

Place six three digit numbers of
100 plus at the end of 457 so that
six numbers of six digits are

7 produced. When each number is

divided by 55.5 six whole
numbers can be found. Which
numbers should be placed in
the grid?

ANSWER 38



NUMBER PUZZLE 27

Each row, column and five-figure diagonal line
in this diagram must total 80. Three different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 80

NUMBER PUZZLE 28

Start at the corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score 24?

ANSWER 28



NUMBER PUZZLE 29

The top two scales are in perfect balance.
How many clubs will be needed to balance the bottom set?

ANSWER 70

o4 73 8 3

NUMBER PUZZLE 30
Which figure should be placed in the empty triangle?
ANSWER 18



3D Es%jiISDISL

oD IR
3R IL
3U 3D
ID 4U
IR 4U
2L 4U

NUMBER PUZZLE 31

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

Which button is the first you must press.

ANSWER 59

NUMBER PUZZLE 32

Complete the grid in such away
that each segment of three numbers
totals the same.

When this has been done correctly
each of the three concentric circles of
eight numbers will produce three
identical totals.

Now complete the diagram.

ANSWER 7



NUMBER PUZZLE 33

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth 2,
how many different routes are there to score 40?

ANSWER 100

2 0

NUMBER PUZZLE 34

Place the tiles in a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 48



NUMBER PUZZLE 35

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 90. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 89

NUMBER PUZZLE 36
Which number should replace the question mark in the diagram?

ANSWER 37



19

NUMBER PUZZLE 37

You have four shots with each go
to score 49. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
four numbers have been used the
same four caimot be used again in
another order.

How many are there?

ANSWER 79

> 158
154151151 2

NUMBER PUZZLE 38

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question marks?

ANSWER 27



NUMBER PUZZLE 39

Start at the corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
What is the lowest number you can score?

ANSWER 69

21913
8 9

6191515
5131616

NUMBER PUZZLE 40

Move from square to adjacent square either vertically or horizon-
tally. Begin at the bottom left-hand square and end at the top right-
hand square. Collect nine numbers and total them.

How many different ways are there to total 35?

ANSWER 17
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NUMBER PUZZLE 41

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you.
Which number should be placed in the empty squares?

ANSWER 58

NUMBER PUZZLE 42

Place six three digit numbers of
100 plus at the end of 975 so that
six numbers of six digits are
produced. When each number is
divided by 65.5 six whole
numbers can be found. Which
numbers should be placed in
the grid?

ANSWER 6



13 21 3
14 20

20]23ll5 10
12]10 31

8 |9 36

NUMBER PUZZLE 43

Each row, column and five-figure diagonal line
in this diagram must total 75. Three different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 99

270 90

NUMBER PUZZLE 44

Two planets are in line with each other and the sun.

The outer planet will orbit the sun every six years. The inner
planet takes two years. Both move in a clockwise direction. When
will they next form a straight line with each other and the sun?
The diagram should help you.

ANSWER 47



NUMBER PUZZLE 45

The top two scales are in perfect balance.
How many diamonds will be needed to balance the bottom set?

ANSWER 88

NUMBER PUZZLE 46
Which figure should be placed in the empty triangle?
ANSWER 36



SRISRISDIILISDI3D
IR|2R|2RI4DIID| 2L
iu J2uliu lil 131 |51
2RIILISDIIU D
AUIBRIILIIU]IL]SL
id |4r |21 1id |3113u
4R|3UI3RIZ2LI3UIGU

NUMBER PUZZLE 47

Here is an unusual safe. Each of the buttons bar one must be
pressed once only in the correct order to open it. The last button is
always marked F. The number of moves and the direction is marked
on each button. Thus IU would mean one move up
while IL would mean one move to the left.

Which button is the first you must press?

ANSWER 78

NUMBER PUZZLE 48

Complete the grid in such away
that each segment of three numbers
totals the same.

When this has been done correctly
each of the three concentric circles of
eight numbers will produce
identical totals.

Now complete the diagram.

ANSWER 26



NUMBER PUZZLE 49

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth minus 13,
how many different routes are there to score 69?

ANSWER 68

NUMBER PUZZLE 50

Place the tiles in a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 16
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NUMBER PUZZLE 51

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 42. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 57

NUMBER PUZZLE 52

Which number should replace the question marks in the diagram?
ANSWER 5



NUMBER PUZZLE 53

You have four shots with each go
to score 48. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
four numbers have been used the
same four cannot be used again in
another order.

How many are there?

ANSWER 98

93 ? 40 48

NUMBER PUZZLE 54

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question marks?

ANSWER 46



NUMBER PUZZLE 55

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score 29?

ANSWER 87

3 513 6
3 6 3
2151612

212

NUMBER PUZZLE 56

Move from square to adjacent square either vertically or
horizontally. Begin at the bottom left-hand square and end at the
top right-hand square. Collect nine numbers and total them.
How many different ways are there to total 30?

ANSWER 35



A B C D E

4 T] 3 a]
Tila\l’\ 3

NUMBER PUZZLE 57

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 77

NUMBER PUZZLE 58

Place six three digit numbers of
100 plus at the end of 685 so that
six numbers of six digits are
produced. When each number is
divided by 111 six whole
numbers can be found. Which
numbers should be placed in
the grid?

ANSWER 25



12 4

13 19 3
20 14 8 10
10 11 31

11 11 10 29

NUMBER PUZZLE 59

Each row, column and five-figure diagonal line
in this diagram must total 70. Three different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 67

NUMBER PUZZLE 60

Start at the corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score 17?

ANSWER 15



NUMBER PUZZLE 61

The top two scales are in perfect balance.
How many spades will be needed to balance the bottom set?

ANSWER 56

N A
92 34 85

NUMBER PUZZLE 62
Which figure should be placed in the empty triangle?
ANSWER 4
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iu liul2r 31101 J3u

NUMBER PUZZLE 63

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

Which button is the first you must press.

ANSWER 97

NUMBER PUZZLE 64

Complete the grid in such a way
that each segment of three numbers
totals the same.

When this has been done correctly
each of the three concentric circles of
eight numbers will produce
identical totals.

Now complete the diagram.

ANSWER 45



NUMBER PUZZLE 65

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth 9,
how many different routes are there to score 94?

ANSWER 86

NUMBER PUZZLE 66

Place the tiles in a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both downwards and across.
How does the finished square look?

ANSWER 34



NUMBER PUZZLE 67

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 15. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 76

NUMBER PUZZLE 68
Which number should replace the question marks in the diagram?

ANSWER 24



NUMBER PUZZLE 69

You have three shots with each go
to score 26. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
three numbers have been used the
same three cannot be used again
in another order.

How many are there?

ANSWER 66

117

96 95 106118

NUMBER PUZZLE 70

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question marks?

ANSWER 14



NUMBER PUZZLE 71

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
What is the highest number you can score?

ANSWER 55

8f3l2]7(1]
s[7]3]8|7
2[4a]4fe]s
ofr]s]e]s
6l1]6]5]4

NUMBER PUZZLE 72

Move from square to adjacent square either vertically or horizon-
tally. Begin at the bottom left-hand square and end at the top right-
hand square. Collect nine numbers and total them.

What is the lowest possible score?

ANSWER 3
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NUMBEF"PUZZLE 73
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There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 96

NUMBER PUZZLE 74

Place six three digit numbers of
100 plus at the end of 458 so that
six numbers of six digits are
produced. When each number is
divided by 122 six whole
numbers can be found. Which
numbers should be placed in
the grid?

ANSWER 44



NUMBER PUZZLE 75

Each row, column and five-figure diagonal line
in this diagram must total 65. Two different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 85

270 90°

NUMBER PUZZLE 76

Two planets are in line with each other and the sun.

The outer planet will orbit the sun every fifteen years. The inner
planet takes five years. Both move in a clockwise direction. When
will they next form a straight line with each other and the sun?
The diagram should help you.

ANSWER 33



NUMBER PUZZLE 77

The top two scales are in perfect balance.
How many clubs will be needed to balance the bottom set?

ANSWER 75

7

2 4 5 6 4 5

NUMBER PUZZLE 78
W hich figure should be placed in the empty triangle?
ANSWER 23



1D|1D|1L]|3L|6D]|1L
2r |4r |iu |id il |iu
id Jid |i1l |2r |3d ]il
2r 14 |iu |3V

2u i1 Jid Ji1 J3u il
id il Jir |2r |2u ]id
2r [2u ]it 12ulil J2U

NUMBER PUZZLE 79

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

W hich button is the first you must press.

ANSWER 65

NUMBER PUZZLE 80

Complete the grid in such away
that each segment of three numbers
totals the same.

W hen this has been done correctly
each of the three concentric circles of
eight numbers will produce
identical totals.

Now complete the diagram.

ANSWER 13



NUMBER PUZZLE 81

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth minus 7,
how many different routes are there to score 51?

ANSWER 54

NUMBER PUZZLE 82

Place the tiles in the square to give some five-figure numbers.
W hen this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 2



10 20 20 20 20

NUMBER PUZZLE 83

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 100. Once a route has
been found return to the middle circle and start again.
Ifaroute can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes.

How many different ways are there?

ANSWER 95

W hich number should replace the question mark in the diagram?

ANSWER 43



10

NUMBER PUZZLE 85

You have three shots with each go
to score 42. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
three numbers have been used the
same three cannot be used again
in another order.

How many are there?

ANSWER 84

O 0O O hif 23
58

4 -0 °f
4 75
? 49 ? 40

NUMBER PUZZLE 86

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question mark?

ANSWER 32



NUMBER PUZZLE 87

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
What is the highest number you can score
and how many times can you score it?

ANSWER 74

alo]7f7]s
8lojafs]7
6lelefo]o
7|s]sls]e
5l5l6]s5]s

NUMBER PUZZLE 88

Move from square to adjacent square either vertically or horizon-
tally. Begin at the bottom left-hand square and end at the top right-
hand square. Collect nine numbers and total them.

How many times can you score 60?

ANSWER 22
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NUMBER PUZZLE 89

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you.
Which number should be placed in the empty squares?

ANSWER 64

NUMBER PUZZLE 90

Place six three digit numbers of
100 plus at the end of 985 so that
six numbers of six digits are
produced. When each number is
divided by 133 six whole
numbers can be found. Which
numbers should be placed in
the grid?

ANSWER 12



NUMBER PUZZLE 91

Each row, column and five-figure diagonal line
in this diagram must total 10.Three different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 53

NUMBER PUZZLE 92

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth minus 4,
what is the lowest number you can score?

ANSWER 1



NUMBER PUZZLE 93

The top two scales are in perfect balance.
How many clubs will be needed to balance the bottom set?

ANSWER 42

9 3 4

A . A . . A
4 11 00 13

Which figure should be placed in the empty triangle?
ANSWER %4
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NUMBER PUZZLE 95

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move upwards
whilst IL would mean one move to the left.

W hich button is the first you must press.

ANSWER 83

NUMBER PUZZLE 96

Complete the grid in such away
that each segment of three numbers
totals the same.

W hen this has been done correctly
each of the three concentric circles of
eight numbers will produce three
identical totals.

Now complete the diagram.

ANSWER 31



NUMBER PUZZLE 97

Move from the bottom left-hand corner to the top right-hand
comer following the arrows. Add the numbers on your route
together. If each black spotis worth minus 3,
which number can be scored only once?

ANSWER 73

NUMBER PUZZLE 98

Place the tiles in a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 21



NUMBER PUZZLE 99

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 30. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 63

6[5]2[3[4
4]2]7]3]5
3[1]3]?[3
7{aj1]1{?
3[3]?]5]1

NUMBER PUZZLE 100
Which number should replace the question marks in the diagram?
ANSWER 11
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NUMBER PUZZLE 101

You have four shots with each go
to score 62. Aim at this target and
work out how many different

2 O ways there are to make the score.

Assume each shot scores and once
four numbers have been used the
same four cannot be used again in
another order.
How many are there?

ANSWER 52

s o 179
113

135 ? ? ?

NUMBER PUZZLE 102

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question mark?

ANSWER 104



NUMBER PUZZLE 103

Start at the corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
What is the lowest number you can score and how many times can
you score it?

ANSWER 93

3 2 3 2

TT "3
5 ]2

51215
5131515

NUMBER PUZZLE 104

Move from square to adjacent square either vertically or
horizontally. Begin at the bottom left-hand square and end at the
top right-hand square. Collect nine numbers and total them.
How many different ways are there to total 31?

ANSWER 41
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NUMBER PUZZLE 105

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 167

NUMBER PUZZLE 106

Place six three digit numbers of
100 plus at the end of 854 so that
six numbers of six digits are
produced. When each number is
divided by 149 six whole
numbers can be found. Which
numbers should be placed in
the grid?

ANSWER 115



NUMBER PUZZLE 107

Each row, column and five-figure diagonal line
in this diagram must total 15. Three different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 187

270

NUMBER PUZZLE 108

Two planets are in line with each other and the sun.

The outer planet will orbit the sun every one hundred years. The
inner planet takes twenty years. Both move in a clockwise
direction. When will they next form a straight line with each other
and the sun? The diagram should help you.

ANSWER 156

90



NUMBER PUZZLE 109

The top two scales are in perfect balance.
How many clubs will be needed to balance the bottom set?

ANSWER 197

NUMBER PUZZLE 110
Which number should be placed in the empty triangle?
ANSWER 145
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NUMBER PUZZLE 111

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

W hich button is the first you must press?

ANSWER 166

NUMBER PUZZLE 112

Complete the grid in such away
that each segment of three numbers
totals the same.

W hen this has been done correctly
each of the three concentric circles of
eight numbers will produce
identical totals.

Now complete the diagram.

ANSWER 114



NUMBER PUZZLE 113

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spotis worth minus 17,
how many different routes are there to score 2?

ANSWER 135

NUMBER PUZZLE 114

Place the tiles in a square to give some five-figure numbers.
W hen this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 155



NUMBER PUZZLE 115

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 10. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 196

Which number should replace the question marks in the diagram?

ANSWER 144
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A segment in the diagram is divided into two parts.
Each like part has the same value. When the four
values of two opposing segments are added together
they can be divided by the value of one of the parts.
Which part is this?

ANSWER 10N LAST PAGE OF THIS SECTION

BLUE NUMBER PUZZLE 2

Each like box in the diagram has the
same value. The boxes are arranged in
three series. The first series gives a total
of 35, the second aeries 63 and the third
series 27. It is easy to discover the value
of the red box, if you look carefully.
What are the values of the yellow and
blueboiies?

ANSWER 4 ON LAST PAGE OF THIS
MmUSECTION'
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YELLOW NUMBER PUZZLE 1

Select a tile from the grid that matches one in the number frame.
Place it in the frame and choose the next tile. When eight tiles have
been placed correctly a number divisible by 9,876 will appear.
Divide the number to get a year. Marry the year to June 18th
and discover an historical event.

What was the year and what was the event?

ANSWER 10N LAST PAGE OE THIS SECTION

YELLOW NUMBER PUZZLE 2

In the diagram each segment has a value.
The red, green, and purple segments are
worth 3 each. The blue and the yellow seg-
ments are worth 6. The remaining
segments are worth 0. Three segments
must be added together to give a total of 9.
A segment can be used twice but once a
combination has been used it cannot
be reused in another order.

How many different
combinations are there?

ANSWER 6 ON LAST PAGE
OF THIS SECTION
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RED NUMBER PUZZLE 1

1k're are four distinctly, ditferent boxes. A number of these
boxes have been arranged in the grid. Each like
box has the same value. The total of the \ allies is show n
alongside a row or beneath a column.
Which number should replace the question marks?

ANSWER t ON LAST PAGE OF THIS SECTION
. P /\

RED NUMBER PUZZLE 2

W'hen the correct eight segments are rearranged to form a circle
the sum of four oLthe segmcntspvill equal the sum of the other
lour. Yellow’segments represent either 2,4, 9, m 11 Blue segments
represent either 1, .3 5, or 7. White segments represent either 6, 8,
10, or 12. Green segments represent either 13, 14,19, or 20.
What are the totals and the sequence of segments?

ANSWER 50N LAST PAGE OF THIS SECTION



RED NUMBER PUZZLE 3

Fill the diagram up with the circles. The black circle goes
in the middle and is worth 5. Yellow circles are 10s,
red circles are 30s, and green circles are 35s.
When the correct pattern has been found, by moving
from circle to touching circle, in each case starting from the black
circle, a total of 80 can be reached 12 times.
What does the pattern look like?

ANSWER 2 ON LAST PAGE OF THIS SECTION



GREEN NUMBER PUZZLE 1

A segment in the diagram is divided into two parts.
Each like part has the same value. When the four
values of two opposing segments are added together
they can be divided by the value of one of the parts in the
diagram. Which part is this?

ANSWER 1 ON LAST PAGE OF THIS SECTION

GREEN NUMBER PUZZLE 2

Each like box in the diagram has the
same value. The boxes are arranged in
three series. The first series gives a total
of 25, the second series 53 and the third
series 63. It is easy to discover the value

of the red box, if you look carefully.
What are the values of the yellow and

blue boxes?

ANSWER 4 ON LAST PAGE OF THIS
SECTION
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BLUE NUMBER PUZZLE 3

Select a tile from the grid that matches on in the number frame.
Place it in the frame and choose the next tile. When eight tiles have
been placed correctly a number divisible by 34,567 will appear.
Divide the number to get a year. Marry the year to November 22nd
and discover an historical event.

What was the year and what was the event?

ANSWER 2 ON LAST PAGE OF THIS SECTION

BLUE NUMBER PUZZLE 4

In the diagram each segment has a value.
The black, orange, white and green
segments are worth 5 each. The blue and
the purple segments are worth 2. The
remaining segments are worth 0. Three
segments must be added together to give
a total of 7. A segment can be used twice
but once a combination has been used
it cannot be reused in another order.
How many different
combinations are there?

ANSWER 5 ON LAST PAGE OF THIS
SECTION
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YELLOW NUMBER PUZZLE 3

Here are four distinctly, different boxes. A number of these
boxes have been arranged in the grid. Each like
box has the same value. The total of the values is shown
alongside arow or beneath a column.
Which number should replace the question marks?

ANSWER 2 ON LAST PAGE OF THIS SECTION

<1X7 A

YELLOW NUMBER PUZZLE 4

When the correct eight segments are rearranged to form circle the
sum of four of the segments will equal the sum of the other four.
White segments represent either 1,4,9, or 15. Blue segments
represent either 6,8,10, or 17. Red segments represent either 3,5,
11, or 12. Green segments represent either 2,13,14, or 16.
What are the totals and the sequence of segments?

ANSWER 70ON LAST PAGE OF THIS SECTION



GREEN NUMBER PUZZLE 3

Fill the diagram up with the circles. The black circle goes
in the middle and is worth 10. Yellow circles are 15s,
blue circles are 40s, and red circles are 25s.
When the correct pattern has been found, by moving
from circle to touching circle,.in each case starting from the black
circle, a total of 90 can be reached 9 times.
What does the pattern look like?

ANSWER 2 ON LAST PAGE OF THIS SECTION



YELLOW NUMBER PUZZLE 5

A segment in the diagram is divided into two parts.
Each like part has the same value. When the four
values of two opposing segments are added together
they can be divided by the value of one of the parts of the
diagram. Which part is this?

ANSWER 3 ON LAST PAGE OF THIS SECTION

YELLOW NUMBER PUZZLE 6

Each like box in the diagram has the
same value. The boxes are arranged in
three series. The first series gives a total
of 43, the second series 35 and the third

series 32. The red box is worth 5.
What are the values of the white, green
and blue boxes?

ANSWER 8 ON LAST PAGE OF THIS
SECTION



ONRO~NT
NWO W
R 0o 0 ~N O

a »~ wWN PR

8

N O R 0 U
© b 1O QO M

-

YELLOW NUMBER PUZZLE 7

Select a tile from the grid that matches on in the number frame.
Place it in the frame and choose the next tile. When eight tiles have
been placed correctly a number divisible by 5,605 will appear.
Divide the number to get a year. Marry the year to July 21st
and discover an historical event.

What was the year and what was the event?

ANSWER 4 ON LAST PAGE OE THIS SECTION

YELLOW NUMBER PUZZLE 8

In the diagram each segment has a value.
The red, purple, and blue segments are
worth 2 each. The orange and the white
segments are worth 0. The remaining
segments are worth 4. Three segments
must be added together to give a total of 8.
A segment can be used twice but once a
combination has been used it cannot
be reused in another order.
How many different
combinations are there?

ANSWER 9 ON LAST PAGE OE
THIS SECTION
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Here are four Liislinctl\', (.iitterent boxes. A number of these
boxes li.u e been arrairggd in tte grid. Ilach like
box has the' Stiine value. Thgtotal of the \j3lues is shown
alune,side a row or beneath a column.
Which number shoulil replace the question marks?

ANSVVIK 30N |.AST lifCiE OF TI IIS"*ZTION

KEH \LiM13IR PUZZI.E.S

W hi'ii the correct eight segment”are rearraii®el to form a eh'eie
itlI*sLim of four ol tlie segineii*will equal tl1"sum of the othe r
LIUT Yellow segnu'uts represent”ither 4, 7. Blue segmentsj
represent eitlu'r 1, S, 10, or 13. White segme'nts represent
g”-ilher 2, 9, 14, or 1~ (ireen segments represent either 3, 11, 13
16. What <ire the teTals and the sequence'of sS"ments?

ANSWVTk (A)N ILASr PAGE OF TI lISiSFCTION



BLUE NUMBER PUZZLE 5

Fill the diagram up with the circles. The black circle goes
in the middle and is worth 5. Green circles are 30s,
red circles are 10s, and blue circles are 15s.
When the correct pattern has been found, by moving from circle to
touching circle, in each case starting from the black circle, a total of
60 can be reached 8 times. What does the pattern look like?

ANSWER 3 ON LAST PAGE OF THIS SECTION



GREEN NUMBER PUZZLE 4

A segment in the diagram is divided into two parts.
Each like part has the same value. When the four
values of two opposing segments are added together
they can be divided by the value of one of the parts in the
diagram.Which part is this?

ANSWER 3 ON LAST PAGE OF THIS SECTION

GREEN NUMBER PUZZLE 5

Each like box in the diagram has the
same value. The boxes are arranged in
three series. The first series gives a total
of 49, the second series 35 and the third
series 42. The red box is worth 3.
What are the values of the white,
yellow and blue boxes?

ANSWER 5 0ON LAST PAGE OF THIS
SECTION
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RED NUMBER PUZZLE 6

Select a tile from the grid that matches on in the number fr-ame.
’lace it in the frame and choose the next tile. When eight tiles have
been placed correctly a number divisible by <S8S3 \vill{dppear.
Dix'ide the number to get a year. Marry the year to Julv 14th
and discover an historical event.

What w'as the year and what was the event!’

ANSWER 4 ON LAST PAGE OF THIS SI"TION

RED NUMBER PjZ"“lI.E 7

In the diagram each segmfiTt has a \ alue.
The green, yellow, purple, black and blue
are worth 0 each. The-’remaihfne, see,ments
are worth a. Three'segments]must be
added together to'“give ajfidtal of S
A segmentican be used twra”® but pmi'CT,
combination has"been ugedInt cammrt be.
reused in @inothemugiei.ir-
How manv diffei
combinatidhsun'e,t

rve FI"

ANSWER 7 AST Pi OETI liS
STGTIOIli



I X P

YELLOW NUMBER PUZZLE 9

Here are four distinctly, different boxes. A number of these
boxes have been arranged in the grid. Each like
box has the same value. The total of the values is shown
alongside a row or beneath a column.
Which number should replace the question marks?

ANSWER 50N LAST PAGE OF THIS SECTION

YELLOW NUMBER PUZZLE 10

When the correct eight segments are rearranged to form a circle
the sum of four of the segments will equal the sum of the other
four. White segments represent either 1,4,15, or 16. Blue segments
represent either 6, 9,11, or 12. Red segments represent either 3,4, 7,
or 8. Green segments representeither 2, 5,10, or 13.

What are the totals and the sequence of segments?

ANSWER 10 ON LAST PAGE OF THIS SECTION



Blue Number Puzzles

1. The red part. A yellow part is worth 8, a blue
part 3,agreen part4 and ared part 7.

2. 1963. The assassination of President Kennedy. The
number is 67855021.

4. Blue is worth 5 Yellow 8.

5 16

Yellow Number Puzzles

L 1815. The Battle of Waterloo. The number is
17924940.

2. 132

3. The white part. A white part is worth 4,
agreen 13, ablue 8 and a red 3.

4, 1969. The first moon walk. The number is 11036245.

5. 59

6. 28.

7. 12 Four red segments equal two white plus two
green segments. The sequence reads red, red, white,

green, red, red, white, and green.

8. A blue box is worth 6, a green is worth 4 and a
white is worth 2.

9. 30
10.  30. Four green segments equal two red plus two

blue. The sequence reads red, blue, green,green, red,
blue, green, green.

Red Number Puzzles

1. 72
2.
3. 53

4. 1789. The storming of the Bastille. The number is
15900632

5. 18. Yellow, blue, white, blue,

yellow, blue, white, blue. Yellow, yellow, blue and blue
total 18, as do white, white, blue and blue.

6.  22. Four yellow segments equal two blue plus two
green segments. The sequence reads blue, green, yellow,
yellow, blue, green, yellow, yellow.

7. 45

Green Number Puzzles

1. Theyellow part. A white part is worth 5, a yellow
7,a blue 12 and a red 13.

3. The white part. A yellow part is worth
9, a white 5, a blue 2 and a red 6.

4. Blue is worth 1and vollow 5.

5. YeUow is worth 6, blue 4, and white 7.



NUMBER PUZZLE 117

You have five shots with each go
to score 22. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
five numbers have been used the
same five cannot be used again in
another order.

How many are there?

ANSWER 186

16

62

5 55

. , 64
? 2 51 40

NUMBER PUZZLE 118

O 0

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question marks?

ANSWER 134



NUMBER PUZZLE 119

Start at any comer number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score 37?

ANSWER 176

2 |3

2 "9
T '3

NUMBER PUZZLE 120

Move from square to adjacent square either vertically or
horizontally. Begin at the bottom left-hand square and end at the
top right-hand square. Collect nine numbers and total them.
How many different ways are there to total 46?

ANSWER 124
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NUMBER PUZZLE 121

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 165

NUMBER PUZZLE 122

Place six three digit numbers of
100 plus at the end of 562 so that
six numbers of six digits are
produced. When each number is
divided by 61.5 six whole
numbers can be found. In this
case, the first numbers are given.
W hich numbers should be
placed inthe grid?

ANSWER 113
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NUMBER PUZZLE 123

Each row, column and five-figure diagonal line
in this diagram must total 20. Three different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 125

NUMBER PUZZLE 124

Move from the bottom left-hand corner to the top right-hand
comer following the arrows. Add the numbers on your route
together. If each black spot is worth minus 3,
how many different ways can you score 20?

ANSWER 154
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NUMBER PUZZLE 125
Which figure should be placed in the empty triangle?
ANSWER 143

NUMBER PUZZLE 126

The top two scales are in perfect balance.
How many diamonds will be needed to balance the bottom set?

ANSWER 195
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NUMBER PUZZLE 127

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

Which button is the first you must press?

ANSWER 185

NUMBER PUZZLE 128

Complete the grid in such away
that each segment of three numbers
totals the same.

When this has been done correctly
each of the three concentric circles of
eight nmnbers will produce
identical totals.

Now complete the diagram.

ANSWER 133
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NUMBER PUZZLE 129

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 53. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 175
d EXl
7
1
NUMBER PUZZLE 130

Place the tiles in a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 123



NUMBER PUZZLE 131

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 49. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 164

NUMBER PUZZLE 132
Which number should replace the question marks in the diagram?
ANSWER 112



NUMBER PUZZLE 133

You have five shots with each go
to score 61. Aim at this target and
work out how many different

3 O ways there are to make the score.
Assume each shot scores and once

five numbers have been used the
same five cannot be used again in
another order.
How many ways are there?

ANSWER 177

45
S 48

> 53
? 40 39 41

NUMBER PUZZLE 134

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question marks?

ANSWER 153



NUMBER PUZZLE 135

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score 38?

ANSWER 194

NUMBER PUZZLE 136

Move from square to adjacent square either vertically or
horizontally. Begin at the bottom left-hand square and end at the
top right-hand square. Collect nine numbers and total them.
How many different ways are there to total 48?

ANSWER 142
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NUMBER PUZZLE 137

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you.
Which number should be placed in the empty squares?

ANSWER 184

i PRy .8

NUMBER PUZZLE 138

Place six three digit numbers of
B v g 100 plus at the end of 731 so that
six numbers of six digits are

produced. When each number is

divided by 39.5 six whole
numbers can be found. In this

case, the first numbers are given.

Which numbers should be
placed inthe grid?

--vjdt k*m

- =
]

ANSWER 132



NUMBER PUZZLE 139

Each row, column and five-figure diagonal line
in this diagram must total 50. Four different numbers must be
used, as many times as necessary, to achieve this.
What are the numbers?

ANSWER 174

OO
45°

270° 920°

135°

180°

NUMBER PUZZLE 140

Two planets are in line with each other and the sun.

The outer planet will orbit the sun every 36 years. The inner
planet takes 4 years. Both move in a clockwise direction. When
will they next form a straight line with each other and the sun?

The diagram should help you.

ANSWER 122
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NUMBER PUZZLE 141

The top two scales are in perfect balance.
How many spades will be needed to balance the bottom set?

ANSWER 163

8 8

A A
13 55 36

NUMBER PUZZLE 142
Which figure should be placed in the empty triangle?
ANSWER 111
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NUMBER PUZZLE 143

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

Which button is the first you must press?

ANSWER 146

NUMBER PUZZLE 144

Complete the grid in such away
that each segment of three numbers
totals the same.

When this has been done correctly
each of the three concentric circles of
eight numbers will produce
identical totals.

Now complete the diagram.

ANSWER 152



NUMBER PUZZLE 145

Move from the bottom left-hand comer to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spotis worth minus 7,
how many different times can you score 22?

ANSWER 193

9 8

5 8 7 3 2

NUMBER PUZZLE 146

Place the tiles in a square to give some five-figure numbers.
W hen this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 141
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NUMBER PUZZLE 147

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 45. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 183

NUMBER PUZZLE 148

Which number should replacé the question marks in the diagram?
ANSWER 131



NUMBER PUZZLE 149

You have three shots with each go
to score 18. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
three numbers have been used the
same three cannot be used again
in another order.

How many are there?

ANSWER 173

[ | [k EE
P AaR 150

ALK 0K 9

? 116 ? 104

NUMBER PUZZLE 150

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question marks?

ANSWER 121



NUMBER PUZZLE 151

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many ways can you score 36?

ANSWER 162

56a 5L!
u
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NUMBER PUZZLE 152

Move from square to adjacent square either vertically or
horizontally. Begin at the bottom left-hand square and end at the
top right-hand square. Collect nine numbers and total them.

W hat is the highest score possible?

ANSWER 110
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NUMBER PUZZLE 153

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty square?

ANSWER 198

NUMBER PUZZLE 154

Place six three digit numbers of
100 plus at the end of 327 so that
six numbers of six digits are
produced. When each number is
divided by 27.5 six whole
numbers can be found. In this
case, the first numbers are given.
Which numbers should be
placed inthe grid?

ANSWER 151



NUMBER PUZZLE 155

Each row, column and five-figure diagonal line
in this diagram must total 60. Three different numbers must
be used, as many times as necessary, to achieve this.
W hat are the numbers?

ANSWER 192

NUMBER PUZZLE 156

Move from the bottom left-hand comer to the top right-hand
comer following the arrows. Add the numbers on your route
together. Ifeach black spot is worth 13,
which two numbers can be scored once only?

ANSWER 140
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NUMBER PUZZLE 157
W hich figure should be placed in the empty triangle?

ANSWER 130

NUMBER PUZZLE 158

The top two scales are in perfect balance.
How many clubs will be needed to balance the bottom set?

ANSWER 182
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NUMBER PUZZLE 159

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IlU would mean one move up
whilst IL would mean one move to the left.

Which button is the first you must press?

ANSWER 172

NUMBER PUZZLE 160

Complete the grid in such away
that each segment of three numbers
totals the same.

W hen this has been done correctly
each of the three concentric circles of
eight numbers will produce
identical totals.

Now complete the diagram.

ANSWER 120



NUMBER PUZZLE 161

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth minus 9,
how many times can you score 41?

ANSWER 161
2
7
NUMBER PUZZLE 162

Place the tiles in a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 109
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NUMBER PUZZLE 163

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 75. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes. How many different ways are there?

ANSWER 202

NUMBER PUZZLE 164
Which number should replace the question marks in the diagram?
ANSWER 150
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NUMBER PUZZLE 165

You have five shots with each go
to score 56. Aim at this target and
work out how many different
ways there are to make the score.
Assume each shot scores and once
five numbers have been used the
same five cannot be used again in
another order.
How many ways are there?

ANSWER 191

EIREIKS
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NUMBER PUZZLE 166

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number

should replace the question mark?

ANSWER 139



NUMBER PUZZLE 167

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score less than 30?

ANSWER 181

NUMBER PUZZLE 168

Move from square to adjacent square either vertically or horizon-
tally. Begin at the bottom left-hand square and end at the top
right-hand square. Collect nine numbers and total them.
What are the highest and lowest numbers you can score?

ANSWER 129
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NUMBER PUZZLE 169
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There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 171
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NUMBER PUZZLE 170

Place six three digit numbers of
100 plus at the end of 531 so that
six numbers of six digits are
produced. When each number is
divided by 40.5 six whole
numbers can be found. In this
case, the first numbers are given.
W hich numbers should be
placed inthe grid?

ANSWER 119



NUMBER PUZZLE 171

Each row, column and five-figure diagonal line
in this diagram must total 55. Three different numbers must be -
used, as many times as necessary, to achieve this.
What are these numbers?

ANSWER 160

NUMBER PUZZLE 172

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
How many times can you score 40?

ANSWER 108



NUMBER PUZZLE 173

The top two scales are in perfect balance.
How many spades will be needed to balance the bottom set?

ANSWER 201

/ 8
N N\
32 21 30

NUMBER PUZZLE 174
W hich figure should be placed in the empty triangle?
ANSWER 149
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NUMBER PUZZLE 175

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IU would mean one move up
whilst IL would mean one move to the left.

W hich button is the first you must press?

ANSWER 190

NUMBER PUZZLE 176

Complete the grid in such away
that each segment of three numbers
totals the same.

W hen this has been done correctly
each of the three concentric circles of
eight numbers wiU produce
identical totals.

Now complete the diagram.

ANSWER 13 8



NUMBER PUZZLE 177

Move from the bottom left-hand comer to the top right-hand
corner following the arrows. Add the numbers on your route
together. Ifeach black spotis worth 11,
how many times can you score 80?

ANSWER 180

NUMBER PUZZLE 178

Place the tiles in the square to give some five-figure numbers.
W hen this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 128



NUMBER PUZZLE 179

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 83. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two
different routes.

How many different ways are there?

ANSWER 170

NUMBER PUZZLE 180

Which number should replace the question mark in the diagram?
ANSWER 118



NUMBER PUZZLE 181
You have five shots with each go
to score 44. Aim at this target and
work out how many different

ways there are to make the score.

Assume each shot scores and once
~ five numbers have been used the
same five cannot be used again in
another order.
How many ways are there?
ANSWER 159

1 N O -V
N = X0

N PORECERS
~ PORAR L

NUMBER PUZZLE 182

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which number
should replace the question marks?

ANSWER 107



NUMBER PUZZLE 183

Start at any corner number and collect another four numbers by
following the paths shown. Add the five numbers together.
What is the lowest number you can score?

ANSWER 200

NUMBER PUZZLE. 184

Move from square to adjacent square either vertically or horizon-
tally. Begin at the bottom left-hand square and end at the top right-
hand square. Collect nine numbers and total them.

Which total can be scored only once?

ANSWER 148
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NUMBER PUZZLE 185

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you.
Which number should be placed in the empty squares?

ANSWER 189

NUMBER PUZZLE 186

Place six three digit numbers of
100 plus at the end of 888 so that
six numbers of six digits are
produced. When each number is
divided by 77 six whole
numbers can be found. In this
case, the first numbers are given.
Which numbers should be
placed inthe grid?

ANSWER 137
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NUMBER PUZZLE 187
6 10 2

Each row, column and five-figure
diagonal line in this diagram must
14 2 total 40. Three different numbers
must be used, as many times as nec-
essary, to achieve this.
6 19 What are the numbers?

ANSWER 179

NUMBER PUZZLE 188

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 62. Once a route has been
found return to the middle circle and start again.

If a route can be found, which obeys the above rules
but follows both a clockwise and an anticlockwise path,
it is treated as two different routes.

How many different ways are there?

ANSWER 127
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NUMBER PUZZLE 189

W hich figure should be placed in the empty triangle?

ANSWER 117
L IR A A A A
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NUMBER PUZZLE 190

The top two scales are in perfect balance.
How many clubs will be needed to balance the bottom set?

ANSWER 169
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NUMBER PUZZLE 191

Here is an unusual safe. Each of the buttons must be pressed once
only in the correct order to open it. The last button is always
marked F. The number of moves and the direction is marked on
each button. Thus IlU would mean one move up
whilst IL would mean one move to the left.

W hich button is the first you must press?

ANSWER 158

NUMBER PUZZLE 192

Complete the grid in such away
that each segment of three numbers
totals the same.

W hen this has been done correctly
each of the three concentric circles of
eight numbers will produce
identical totals.

Now complete the diagram.

ANSWER 106



NUMBER PUZZLE 193

Move from the bottom left-hand corner to the top right-hand
corner following the arrows. Add the numbers on your route
together. If each black spot is worth minus 19,
how many times can you score 24?

ANSWER 199
6 6 [ 7
1 5
4 9
NUMBER PUZZLE 194

Place the tiles a square to give some five-figure numbers. When
this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 147



NUMBER PUZZLE 195

Start in the middle circle and move from circle to touching circle.
Collect the four numbers which will total 90. Once a route has
been found return to the middle circle and start again.

If a route can be found, which obeys the above rules but follows
both a clockwise and an anticlockwise path, it is treated as two

different routes. How many different ways are there?

ANSWER 188
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NUMBER PUZZLE 196
Which number should replace the question marks in the diagram?
ANSWER 136
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NUMBER PUZZLE 197

You have three shots with each go
to score 36. Aim at this target and
work out how many different
ways there are to make the score.
1 n Assume each shot scores and once
three numbers have been used the
same three cannot be used again
in another order.
How many are there?

ANSWER 178
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NUMBER PUZZLE 198

The contents of each box has a value. The total of the values is
shown alongside a row or beneath a column. Which numbers
should replace the question marks?

ANSWER 126



3 6 2

NUMBER PUZZLE 199

Place the tiles in a square to give some five-figure numbers.
W hen this has been done accurately the same
five numbers can be read both down and across.
How does the finished square look?

ANSWER 168

51315

513
3 5 315 3
51315

NUMBER PUZZLE 200

Move from square to adjacent square either vertically or
horizontally. Begin at the bottom left-hand square and end at the
top right-hand square. Collect nine numbers and total them.
How many different ways are there to total 39?

ANSWER 116
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NUMBER PUZZLE 201

There is a relationship between the columns of numbers in this
diagram. The letters above the grid are there to help you. Which
number should be placed in the empty squares?

ANSWER 157

NUMBER PUZZLE 202

Place six three digit numbers of
100 plus at the end of 451 so that
six numbers of six digits are
produced. When each number is
divided by 61 six whole
numbers can be found. In this
case, the first numbers are given.
Which numbers should be
placed inthe grid?

ANSWER 105



17.
3 29.
4 10. The top number is multi-

plied by the bottom left-hand number
and the total is divided by the bottom
right-hand number.

5 1. The top row minus the
bottom row gives the third row. The
bottom row plus the second row
gives the fourth row.

8 11 ways.

9 In two years time. The outer
planet is 60 degrees in its orbit, the
sun is in the middle and the inner
planet is at 240 degrees.

A Nswers

10 13 2 8 20 162
313
464
615
766
917

1 8. The top row minus the 21

bottom row gives the third row.

The third row plus the second row

gives the fourth row.

12
22 Three times.
23 4. The top number is added
to the bottom left-hand number and
the bottom right-hand number is

13 subtracted.
24 6. The top row plus the
second row gives the third row. The
second row plus the fourth row gives
the fifth row.
25

14 107 (values of sjrmbols:

O =18n =30, =29).

15 Once.

16 26

17 Once.

18 7. The top number is multi-

pUed by the bottom left number and

the bottom right number is taken 27 149 (values of symbols;

away from this total to give the O =35n =42, =37)

middle number. 28 3times.

19 5.3rd row - top row =5th
row. 4th row + 5th row = 2nd.row.



29

618

8 |9 1912

*916

7iTlI 51s 3

311
30 3 ways.
31 Our answer is:
32 65 (values of symbols: 0 =
7,0 =8, =25 =17).
33 In three and three-quarter

years' time. The outer planet is 90
degrees in its orbit, the sun isin the
middle and the inner planet is at 270

degrees.
34
319 8 6
9 |8
2 5
81T’
613
35 Once.
36 3. The top number minus

the bottom left-hand number is
mulHphed by the bottom right-hand
number.

37 1. The second row plus the
third row gives the top row. The
third row plus the fourth row gives
the bottom row.

38 431
542
653
764
875
986

39 Our answer is:

40. 62 (values of symbols:

0 =13 =21,n =7).

41 6 ways.

42 7 clubs.

43 8. The middle row minus

the bottom row equals thetop row.
44

45

46 78 (values of symbols: 0 =
28, * =13,0 =)9)

47 In one and a half years'

time. The outer planet is 90 degrees
in its orbit, the sun isinthe middle
and the inner planet is at 270

degrees.
48
5 5 5
5 6 7
5 7 8
3 7 4
12 5
49 2 ways.
50 6. The bottom two numbers

are added and taken from the top
number.

51 5. Take the bottom row from
the middle row to give the top row.

52 27 ways.
53 0,1 and 4.
3 0 3 1 3
0 3 3 3 1
3 3 2 1 1
3 1 1 1 4
1 3 1 4 1
54 Four.
55 40.
56 4 spades.
57 10 ways.
58 2A+B=D.A-B=C.
D-C=E
59 4U on the third row from
the bottom.
60 204 (values of symbols: 'S
=44,0 =58 0 =u45)
61 10,11,23 and 31.
9 23 5 23]
22 24 23 TJ
o 2017 14 1y
2311113119
62 5 hmes.
63 14 ways.
64. 4 A+B=D.A-B =C.
D-C =E
65 IL in the second column

from the left one row from the

bottom.

66 8 ways.

67 9,17 and 18.
19 12 18 4 17
13 17 19 18 3
18 20 14 8 10
9 10 9 11 31
11 11 10 29 9

68 Four routes.

69 30.

70 7 clubs.



71 12 ways.

72 2A+B=D.A-B=C.
D-C =E

73 58.

74 40 and once.

75 6 clubs.

76 7 ways.

77 4. A-B+1=D.D-1=C.
D+B-1=E

78 IL in the third column from

the left on the third row from the

bottom.

79 15 ways.

80 11,12 and 21.
Q Q
QBDES3EII

81 4 times.

82 37.

83 IU in the second column

from the left on the second row.
84 7 ways.
85 9 and 17.

Mim

86 2 routes.

87 4 times.

88 4 diamonds.

89 7 ways.

90 3A-B=D.C=D+2
E=D-B.

91 ID fourth from the left on
the top row.

92 11 ways.

93 27 and twice.

94 3. The top number minus

the bottom left-hand number minus
the bottom right-hand number.
95 7 ways.

96 5 A-B=D.D+2=C.
D-B=E

97 3U on the bottom row.
98 21 ways.
99 11,18 and 19.

[3ESQ E 3

N23B3ED
ESBDESES
100 One.
101 Twice.
102 5 clubs.
103 5 ways.

104 157 (values of s)rmbols: 0
45,0 =
105. 156
339
461
644
400
949
106. Our answer is:

107. 52 (values of symbols: IS =12,

=8,n =24).
108. 3 times.
109.
6 4 6
4 3 41214
6 4 5l71s
6 14183 9
110. 60.

111. 8. The top number minus the
bottom left-hand number multiplied
by the right-hand number.

112. 8. 3rd row - top row = 5th row.
5th row + 4th row =2nd row.
113. 233

356

479

725

848

971

114. Our answer is:

115. 217

366

515

664

813

962
116. 2 times.
117. 7. The top number minus the
bottom left-hand number multiplied
by the right hand number.
118. 3. Top row + bottom row =
middle row.

121. 122 (values of symbols S =20,
=24, =42, -A=236)



122. In 2 \Myears time. The outer
planet is 22.5 degrees in its orbit, the
sun is in the middle and the inner
planet is at 202.5 degrees.

123.
4 318 2 7
3 6161312
8 6 |7 Il |5
124. 2 ways.
125. 1,3, and 4.
126. 126 at the side and 122 beneath
(values of symbols: =31, n =30,
0 =35)
127. 11 ways.
128.

3 18l98 2

8 17 11 46
31315

8 413

2|6|5

129. 58 and 37.
130. 6. The top number multiplied by
the bottom left-hand number minus
the right-hand number.
131. 5. The top row plus the second
row gives the third row. The second
row plus the fourth gives the fifth
row.
132. 145

224

461

777

856

935
133. Our answer is:

134. 53 (values of symbols: =4, 147.
0 =170 =13 71519 3 2
135. 4 routes. 51413
136. 6. 2nd row + 3rd row = top row. 91312
3rd row + 4th row = 5th row.
137. 272 21618 6 7
349
426 148. 54.
657 149. 4. The top number minus the
734 two bottom numbers combined.
965 150. 2. The top row minus the bottom
138. Our answer is: row gives the third row. The third
row plus the second row gives the
fourth row.
151. 195
415
635
745
855
965
139, 148 (values of symbols: 152. Our answer is:
0 =33 =37,0 =34).
140. 90 and 92.
141.
11315 8 7
153. 47 (values of symbols m = 6,
142. 4 ways. =11, =120 =18
143. 5. The top number is added to 154. 2 ways.
the bottom left-hand number and the 155.

bottom right-hand number is
subtracted.

144. 3. The top row is the total of the
2nd and 3rd rows. The bottom row is
the total of the 3rd and 4th rows.

145. 4 1/2. The top number
multiplied by the bottom left-hand

number divided by the bottom 156 Intwelve and a halfyears

right-hand number. time. The outer planet is 45 degrees
146 5U on the second row from in its orbit, the sun is in the middle

the bottom. and the inner planet is at 225 degrees.

157. 6. A+B= D.D-3 =C.
C+B=E

158. 3U on the bottom row.
159. 34 ways.



160. 7, 8 and 15. 179. 5,8 and 11. 196. 7 ways.

197. 7 clubs.
198.9.A+B=D.D-3=C.
C+B=E.
199. Once.
200. 15.
201. 5 spades
’ : 202. 4 ways.

161. Once. 180. 8 times.

162. 2 ways. - 181. 6 times.

163. 5 spades. 182. 9 clubs.

164. 9 ways. 183. 7 ways.

165. 8.A-B+1=D.D-1=C. 184.2. A-B=D.D+2=C.

B+C=E. D-B=E |

166. 3D on the top row. 185. 2R on the third row down in the

167. 1.A+B-1=D.D-3=C. fourth column from the left.

B+C=E 186. 59 ways.

187. 3,4 and 6.

89441
9911}7

4,
"‘

169. 10 clubs.

170. 7 ways. ' 188. 13 ways.

171. 7A+B=D.D-3=C. 189. 77 A-B =C. C+1=D.
C+B=E. B+C=E.

172. 3R in the third column from 190. 4U on the third row from the
the left on the third row down. bottom.

173. 7 ways. 191. 21 ways.

174. 8,12,13 and 14. 192. 15,17 and 24.

175. 19 ways.

176. 4 times. 193. 8 times.
177. 37 ways. 194. Once.

178. 9 ways. 195. 3 diamonds.
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BALANCING ACTS

'The top two scales are in perfect ‘
balance. How many clubs will be
needed to balance the bottom set?
See Answer 102.

~ LOGIC PROBLEMS |

Which number should replace the
question mark in the diagram?
See Answer 51.

MATHEMATICAL PUZZLES

Start at the corner number and
collect another four numbers by
following the paths shown. Add
the five numbers together. What

is the highest total which can
be achieved? ‘
See Answer 82.

will orbit e s every twelve

~years. The inner planet takes t e f‘“
‘years. Both move in a clockw1se -
direction. When will they next

form a straight line Wlth each ‘ ther :
“and the sun? o
‘See Answer 9.

. and many, many more besides.

Why not try another
mind-bending challenge
from the boftins at Mensa?
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